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1 (a) () Outline three types of errors that can occur during program development, (3 marks)
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(i1) Describe two hardware requirements necessary for installation ol programming sofiware in
a computer (4 marks)
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(D) Ditferentiate between a robust program and a legible program as used in program design. (4 marks’

{cy  With the aid of an example, descnbe the term escape sequence as used in C programming language
(3 marks*
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(d)  Wiite a Pascal prograg that allows the user to key in an amount of money in Kenya shillings. The
program should then calculate the equivalent of the amount in either dollars or pounds through the
use of functions and output the amount keyed in and dollar or pound equivalent. Use the rates: |
dollar= Ksh 80 and | pound= Ksh 120, (6 marks
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Define the term identifier as used in programming, (1 mark)
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(1) Describe the term structire chart as used in program development, (2 marks)
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Given that the value of X input from the keyboard is 0, determine the expected output
after the segment is executed
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Explamn two advantages and two disadvantages of using a flowchart in program design
(4 marks

(2 murks)
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'he following is a Pascal program segment. Use it to answer the question
that follows. -
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) yetine the lerm svmbolic conytant a8 used in C programming mars
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) List two examples of Internet based programming languages. (1 mark)

B D T T Ll - T A A e e

L R R L L T L T L L L L L e e ) T L LR R L ]

(i) Outline two advantages of compiling a program. (2 marks)
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txplam two functions of a user manual as used in programming. (4 marks)
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(i)  Differentiate between binary search and sequential search. (4 marks)
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(1) Withthe aid of an mnpk.mnhnethegmnlﬁtﬂof&mﬂuundm Pascal
programming, (4 marks)
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(i) State the function of the main() statement as used in C programming
language.
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()  Explain the result got from each of the following pointer arithmetic:

& ptr—=;
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(«©) Ihe following isa C pmgrzm u sc it 1o answer the question that follows.
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Identify four errors in the program.
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(2 marks)
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6. (@ Detine each of the following terms as used m programming:
1, endless loop: (1 mark)
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iL nested loop: (1 mark)
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1L branching loop {1 mark)
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(i) ()utlmc the wnl format of a switch statement as used in C progmrna (2 marks
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(b)  Describe the 1&m formal parameter as used in programming. (2 marks
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«) @) Under what circumstance would an extreme data be used during program testing. (3 marks
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7 (1) () Define the lerm index as used in program documentation, (1 mark)

................................

............................................................................................................

(i) Distinguish between vigned and unsigned integers as used in C programs.

(4 marks
(b)  Peter exccuted a Pascal program in his computer and got the following error:
Sk overtlow ... N
He was advised to dry run all the procedures which had a stack data structure
State two reasons that may justiiy this advise, (3 murks
(c) Upendo society mtends to develop a computerized system that accepts member’s name, P,

- membership number, and number of months a member has been in the society. The system then
calculates the amount of dividends paid to members as follows:

e 6% 10 those members whose shares exceed kshs. 50,000 and have been members for 6 monthe
e 4% to those members whose shares do not exceed kshs. 50,000 and have been members tor 6

months.
Write & pseudo code to represent the program logic. (6 marks
22920103 14 1




(d) Write a C program to produce the |\\:||)\\H‘.)‘ output. Lse fin .(un,'l
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(6 marks)
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(a) () State two advantages of guick sors data structure as used in programming. (2 marks)

() Differentiate between & structire and a union as used in € pnogmmmmg (4 marks)

(b) State two reasons that justify the use "'M‘ in programming. (2 marks
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() ) Outline three advantages of using subprograms in a program development, (3 marks
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(i With the aid of an exampie. explam the function of

PrOSraImnming

He comma operator as WSed i C

(3 mark

{d)

Ann a programming student would like to design o program that accepts two numbers and an
operator| +,-/* ), computes the result depending on the operator entered, and then outputs the
umbers, the operator and the result, Draw a flowchart to represent the logic of the program

(6 marks)
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